- ¥g. 2
: =X
é“-\reéwe%’: Ix €

Ou.\.od%uea oo Gl ol
Z'% e62'+ 83 =0
e )= 3rie.e -0 3

2 Yot sl e coinesdauk
L 2 2Curniow M{ eq OM%@_&,\_&Q % Lol! egl

' - 3
Frlx)= e 49 a

Za(x)=X B

SQQLVJL(GUA b—ﬂf’ﬁ coCoe \6 (X = (o X{bﬁ 8—_)(

6' (5= O e = + (QXer)E— e S i e-—x (Q_Qx_.\o)

et s L—QFO‘*”QX*L’)QFX = |[-20 wewabyena

T 2rox+b ¥ 6(Q-ax-b) + 8 (ox%)j: a % /e___.-x

SO bitba ch+9b = AR zihT o TS :-&

= 2

CQ-6Q +SQ =32 40 = 3 (o} “a

A0 = L"_%. g :?:\ e
Pl a4

- —X
ok = Q(-'L\ e

GO0 = ot ezl 2
4



